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Passage:

et SeNfofad Teret ufdwr vyt e araemes: Stuaday gt far feraal

TF: SUSTasdr SAdHaul: Sifue: Aot W1 THier A or: : S ga Macormam SUaq) 9 TH: I Fem o@dq) 9: Uiew! RRwad Mo srauq) 38 Ryan: amwr: fafdwaoiger:
AfypT: ATl TgT o SR I: X § YR e e RREY @ gem omiw

T ARPTIEar gel SUR u=afy a1 Yaa-iaauigear: e YRgd: aFRIF u=atal T | g4l e 3R e 9 sierm: RRIY wifkat Qe it 307 spit sif sreyad 9- X ggr, Jak: et
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Q.No: 1 fagar sFigraull: &n: fawionfa w2

A AR
B Giiscadt
C AGx:|
D TReSE:|

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:
ehd:— SiNfofed eIt wf@n uuFi fiseaeeia: 3fdaary Sw faan forgal

Tw: AR shwmaul: AfeT: Rwtofy 11 efer RA uw: ¥ swf e o] SR T T3 1 Fer skl v iRe! Rrwr Rur sraug) 38 Ry arr: ffaaoig:
<ApT: ViewTar TegT Sfel: SR W XM: I W AT Frewra RRAY yw@r gem siRig

UgS: CIiumfamar g1 Su gafd e Xaa-iaauigedr: Sfe!: YRIG: aF-i a=didl “AgT: A gaf: et 3fd faaur @ onem: RRAY uifkal e oift a7 4t iféuq swuaq =- X gpr, Jaf: aftsr:
et frm v ergaiien: A off W@ @ o wfida: | snedafia: §: wal: Afte: faftca wifewmt v wes: 9 E ul e

Q.No: 2 3@l 3 i fadmud TR TRy

A SRAT
B SRIE
c T
D SEIE

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:
Hhd:— SN TRt ufan v Reeaeeaea: Sfdaads Sw fan el

U ANSASdr sHwaul: Afer: Rty w1 teier R u: O Swiiq 9ury Siaasmamm SuiRe T X9 9 Fe smdiq) ¥ iRe! Rrwd Fum srauql 98 Ryar: arR: [fyavigern:
et AfeeTal T ofef: AR I: T d R aifte: frearer RRIY oy gem s

g fefdsar ger IuRk uxafa aar Yearicaige: Qe uRgw: arR oxafal T 7 w6l After 3 e @ e RRIY it Qe oty 307 1 siféroe sreuad - X ggr:, wak Aftar:
TR R YT SgEHRRieT: IR Y ¥ Wl YH uftae: | snsfafed: 1 Tk At ke wofewrt R weE: 9 8 W ere)

Q.No: 3 Aftt: Frepra RRRY YT gam AR 36 IS Fp

A 3 Page - 1
B AP

c qRE|

D Lol
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Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Teher:— SeNfeferd TRt ufewn wuFT fAsearasaN:a: Sfadamy Sw faw foraal

& Afteiasar srsaul: Sften: iy w1 e 7 i< & swafud gera Macsmarn] SufeRq) =: I 1: Fam o@iiq) @ it RRwad M sRauq) 38 Ruar: arRr: ffdeaoige:
AT Wt esgr sier: SaraR{ Tk T: A AR AfeT: Fera RRAY yar gem kg

TgS: AT ge1 SuRk uxaf del Jea-iaauiged: e YRad: JFRF gRafa | ek ¥ et e 3y faug 9 srer: RRRY it Sften oft 37 ol g sevad 9- X ger, gk e
T R Ugpen sehliet: AR Sif T WA i ufdida: | snedatha: : Wl fter: fafa wiisml @il wew: 97 T Ul )

Q.No: 4 X gpr:, gaf: Afuer: Ighar: &) T aeie

A TR
B fasg:1
C qitsawl
D A |

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Hha:— SN it ufd@n wumi fiwearermaa: S S fawr fradl

T AfIiashar swaul: AT fwionii ) T R o O i gery Siqcsamm SuiRR) 7 1 9: Fgm smiq) O e Rrwad Fium srauql 98 Ruar: arrr: Rfduavigg:
it Yferar 2eeT aief: AR U XM: I U At frara RRAY e gem g

g SifeTiasar a1 Iuik uRafy aal Jaa-iaauigaadr: Sfd!: dRaa: aFeH gRafdl g | Faf: St gia faaus @ eem: RRIY urfva Afteny s 397 yuit sféoq simyad 9- X ger, gat: aften:
TRt w1 T Syt IR St % @R 1 wféraa: | snydfafda: @ el After: Riftw wikemt i e 1 T i see|

Q.No: 5 Ugs: Aftesifasear Julk qeafr et fadwume fa?

A AR
B Suikl

(o] pceedl

D Al

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Tha:— SreNferiard Tt ufe wuFl fRsmearaeaed: Sfyaary S R foraal

TF: AeIachdr SAEaun: CifveT: famtonfa 1 TR G ora: 9 Swafaq 9ad Miderams Suaq) 97 IM: T e smiql @ ifiest RRw fu srauq) 38 fRyan: ame: fifasaviger:
Aftyepr: APl Tgl Sfef: IR =: 7: A Qe AfteT: Frare RRRY e gem sRe

Y Al gar SuRk uxaf der ea-iaauigedr: Afel: dRad: aFRA gRai| ek ¥ Wat: e 3R fau @ srer: RRRY aikar e oif 3 ol siféq smeuad 9- X ggr, Tk Afen:
T fHH) U sHiien: IR S W W Yy utrdaan: | sngfafea: 1: wah: At fafra wifeemt wofiar www: 9 78 ufa e

Q.No: 6 UPHdl aFRL: HIEM: Jfi?

A TR |
B Ercausicd]
c HUHRGSA:|
»] "\QBQHT:I

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Hpa:— lehferRad izl ufdan nymt s Ifadary I o faal

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 2/44
Page - 2



T o=y MmO EE i Ay M M g e 6 Bt - Bl M B ey | | AR, D

TP Afteiasar sA@au: Qe ﬁaﬂmﬁmlwﬁr—[ﬁﬁm Hmﬁaqw:ﬂaﬁmmmmﬁzﬁﬂﬁmmﬁm ﬁﬁmﬁmﬁﬁmmnq%@mm fafduaoigem:
Aifter: ARl T Siy: @R X T I IR AT P RRIY g 3a oRie

Ta&: Sfpiaal ge1 SuR U=afd qe Yeaauigedr: ST YRAd: R, g=afdl gl § Fal: Sfter: 3 faao : siem: RRIY aiivdl Afrem oft 39 1fft siféuq sreuad 3- X g8r, Tk dften:
T 1 et st AR Siff T @At i wférrew: | snedfea: 1 waf At e @it wmfia e 9 R TRk s

Q.No: 7 Wfewiaw: - o F: TaG:?

A =l
B Fagl
C |

D RucE(l

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Tober:— NG TRt ufdwn wFT Rcaraeavsa: Shidawy S f foraal

T ARG sFmaul: e ok w11 Tl R 4 & sl gar acsmaman Suierg) T9: I: |: s siediql @ Mewt RRwad fFur srauq) 38 fRuar: arRr: fiffeavige:
Aftrt: AR 2T itz SR T: T: A Tieapran: Afire: Freprea RRRY s g siie)

W Qe ger SuR TRafy et YertearigeT: AftwT: yRad: aeeE g e B wdt: At sk fan 9 srem: RRRy afvd dfter oft 397 1 it seya 9- X e, wat: dfte:
T 1 e srgeiten: aFR: oft W WET: Y wfrda: | snydafia: w: wat dften: e wifeem vt w9 R vl e

Q.No: 8 IFR: W@ Wellel: $4 Uiaaa=:?

A R

B Ul
c Pl

D 381

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

pa:— Sfeferfed Taiel ufd@r wami Rdearaeaysa: Sfuaanq Sw @l fRgal

T TR ST,

T gAY TASISTSHA: |
STATSEI A=HATYETE T
Rd wgR s v 3= 1

Q.No: 9 & 71 gz ?

A T
B Ao
Cc THa:
D YT

Correct Ans : €
Subject : Sanskrit Bhasha 02

Passage:

Tehai:— eNfid waiet ufdwr vyl Rderasiay:a: IRdam Sw R frad|

T TR ST,

T AT TAISTe AT |
ST ISE Y SreqraTeETy 97
R AR T g a2 0

Q.No: 10 &: 71 gz ?
afeshfafi:
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A
B
C
D
Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Thar:— eNfafed uaiRt ufd@r wami dearareay:a: Ifda Sw fmn freal

Ty TR ST,
ﬁ'ﬁ'ﬂ"ﬁ’-ﬂ:ﬂ'ﬂ?ﬂ'ﬂ\‘rﬁﬁﬁ:l
SARISEIY WrTAATLHTY T
R g T e a4 0

Q.No: 11 et 7o ga wafa ?

A fed R =
B Sfed w ek
c fod v =

D Tl FAIER

Correct Ans @ A
Subject : Sanskrit Bhasha 02

Passage:

Hebe— SreRferfed werel ufewr uymi fsearareaveg: 3faany Sw far

o i g,

T AT TS At |
ST STATLATY T
AR I gew a=: 1

Q.No: 12 3fsifa: S IR F&H: ?

A pei
B PiECcact
C gbizcac|
D it

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

et SHeNfefad U=l Ul Uy Rdeararmaag: Siaary Sw far fradi

Ty IO <R,

T AT T ISTea e |
SIS A=CAATETY qT
R AT T gt a=: 0

Q.No: 13 fiparg’ - o o1 faufdadda 2

A gt
B Gl
c s
D Tt

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:
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=T T imt=y Wi e FERAp R R f M i

- SN TeIsl ufewn wymi Reearereavsa: IR S R Rl

foharTgy TR =TCET,

T IgAT: T ISeat: |
SIS EregrraTgaTy a1
R AIgTR = el = 0

.No: 14 - e ~ -
e AATRA — APuTF=2% F=a
A Sil+eRr
B I+
c Sfais+ R
D Sl omdfy

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

e SHeNferRad veIiel ufewr Uy fwearare aveg: Siaany S fewr foraal

T TR =TT,

T agET: TS st fatie
ST AT-HATYETY AT
R AigiR T s a=: 1

Q.No: 15 &=Jq - S & Jga:?

A T
B it
C S

D T

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 16 3 Tt forge -

A ECRuGLE
B 3 W
C 3 &t
D w4 o

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 17 faenfif: wami i -

A FHAT
B et
c Sifafsr
D TRt

Correct Ans : C

Subject : Sanskrit Bhasha 02

.No: 18 o
QNo e Hﬁ’(altﬂ %F: Yoad: WIgd?

44374

A
B
(o]
D
Correct Ans : C

Subject : Sanskrit Bhasha 02

o o ¢ c
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=T T imt=y Wi e FERAp R R f M i

Q.No: 19 SHUlcaddiadii- pHdI YiRde I |

BEL: S A

A B 3feAS: TR
B B SAS: TR
C B S{AIH: TG |
D B eI TR

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 20 HaRWIdar Jul: F:?

A y
B ki
C El
D q

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 21 '3Ryq! W1 MRy 3 g 3R foranag il awie

A ACTPR
B AeaB
C fafiRswmR
D TGN

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 22 Y=g+ TIG: RaAH b wu?

A ufesa:
B gfwsa:
c qg:
D ug:

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 23 g Pemai Rigre: HeTrear W[ yradial @ & yfdsafa?
A STeBT: §IE BRI

B UR: O SERVG: T Hies=

c Rresep: Tavmaraa onf afewafy

D EHT: SHFf: MRy

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 24 Fmferady Ftexm: ne: STaFT MNS-Faent siwaems: 39 Haf

A TR TT:
B SIATATYTGT: FT:

c fereTRE:

D UISTUIRGT: TATHSTHT:

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 25 STHRUTRIEURT AT a1 fek: I

A SRR
B rarERifE:

c reAgRISI:

D T 94 fadm e

Correct Ans @ A
Subject : Sanskrit Bhasha 02

Q.No: 26 AU HRIGRUMEHT I FIfIq @f: weziafa?
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sy Yo 88 g o o s e A e a7 T N g o RERAE T ¥ R T RANER F U T e oo R BT g o e i O e a0 S ey TV R o™

ST PRI S1:, 3: AT T, R

A
B SHeTIPT BT SRR SHEHT Sfek: AT Srdivgan|
C HTIRATHR BTI: AT amg: RianRify: we
D Rrenfy Srg=mEEEaT S ofd: o iR T |

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 27 &Iy 9F fAurm

A AT FUSTAGROI BTN IROA
B TTRRVGRI STEHRUITAHIAT JafeRien [eor
c TEETHIRIAT T ST A S7aTe:

D TAMTAIIEIRTT 30 TE:
Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 28 Tgdaear: RifdeT wfa: T BT Yaurm e JeaTg SR | JausRaaieonin 3Ry Fw sriw gaaar Judfar @l 2

A T T Yt famaaty:

B JAREA TaAfGhPeHTSI Yl SETHTH

c THT: FUMN: 4q0t Feal qdt Gfeai TS ARTHHTT Seera:
D arafed YT ARG

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 29 URGYTH THH

A Eispskant
8 wendann
c oI P
o dwTan

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 30 ua+ A

A SERTUTT Xea™i ¥ R
B rguieregTaedr: Sifm:

C eI

D Spfaum

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 31 “3&eA’ JENF & faene ¥ 3Fe o9f &1 ue 3 & T § s

I. 390 T &1 @ & o= & o 5o o A =Ry, @ § P w e #)

1. U Sfafy oy & q= &8t o & i & oot w2l §

1. 359 I8 ¥ Qi § b o= ot - fway i A @ Suafaai <& 398 Rien ) woraer 4 gur @vd Q1

e & 9 B B T FIR-
Fad (1)

Fad (1I)

e (1) 3R (11)

(1), (11) 3R (111) Tt
Correct Ans : D

Subject : Hindi Bhasha 01

o 0O ® >

Q.No: 32 T&R a9 A Fofafed & 3 @ 78 1 ok

A HHE HTNT FT WaRT
B R Siferd 1 T
c
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ity YWei=m Rt e e R Al T e e e

D AR SR Y

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 33 R 9a-a9 Sl & TN ST FRel el 81 8-

A <= @Y I/ S 9 ¥
B TR A WA e
c Y Y R R

D Tl @Y v ifdia R S R A 3 @ |
Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 34 To1-fRieior F e SR Rieor 8-

A & 3 fergn Ry

B el 3 fera Ry

c TRI AR T 3 it T e Rrarn
D O Td HRT WG

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 35 AGHIST &Y e &1 S fig 7T I §, i TR
A wquf ureTHH & Fx § Ry T R B

B WHR BT BT W B

c YR B IS M R

D Wquf ureTsHH & & 7 T el j1

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 36 4 & § t& M Weal &1 IRV Rg™ areht fafyr sF- 82
A af-|rg iy

B e fafy
c ERaTeH fafy
D sigad fafy

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 37 1 & 9 Tikand qofiard &) & ‘Siadac’ feeg uw &1 @ 8 2
A FETHTST

B 3t
c Ao
D gt

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 38 =1 & 9 fera, e, Gardl &1 wam Frfafed & 9 frud smmfa smar g 2
A amft & sl

B Faq YT & Sl
c T Risia & sfewfa
D Freae Rigia & smnfa

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 39 Urs # A el &1 38=y & gan 32

A o w1s 7t T g ¥

B o o Ipeaell 3 TH ¥ T IRa §
C TTed g & e 37 &1 vaa §

D ot & UIoT-TW® NS T ¥

Correct Ans : B
Subject : Hindi Bhasha 01
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Q.No: 40 ¥ R, AN I
A T i FRa ¥

B TS T UF & &0 WRad §
c T & HT R §
D T e &

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 41 AR ¥4 A 1RUs 7= SR Eah|
A R Y7/ FA aQ

B A Y § 750 FA a1

c Sl W60 HA ardt

D o Wt 750 T A At

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 42 = Rigror 3t =R @ Py & I $1-30 vsfy D1 Tenoil ot slen vt wenait F R oif¥s Iudnh 22

A R S

B iSRRG

c oS vsfa
D fpvemen usfa

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 43 TP FAIIRN BT & U v & G a1 & e omy B # § w1 sum S4r?

A BT & Qe 1 e Ha
B T TR 1 o 6t

C RicoksievifcaesErat

D B 3 SifyeiEs o1 Hier 3

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 44 f3TST I Bt =51 Agl
A 1965
B 1950
c 1956
D 1977

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

= AR f&u v T B Uedr g T Ul & ged 3R IR ard [ddes &1 999 Pifrg-
“RFeY ST 4T TET e Y g
S R wifer % & Hiaw & el

HiA TigreeR HRe Bt 3 ufRml ara-9m F 9 iR B FEd FRd €, SR ¥R, Tifh § R W 39 AHsud e g ¥ Q-Hed Bt 99 H g5 o9 F & e faawr 8 o, 39 o
fasrem ue faafia 310 wue & R ok a1 S Tt § ? a19-3W T sga & IR TH 7, 9% AFaiieR &1 g §1

URA I 30T 37 F T 40 % F 2 oiftre v e Y § R Sfien Ram & R morgy #1176 sifidedt gRT 4ATIE B R B4 3 I o wredl 1 e 7 Q-ge § 9 R 99 7 & R ae
faran < 1 FsHoTe U8 7Y, iwur mff a1 R § BR-TR-HEA, Wi, WG FRA], I T a1 FRAF! fE WA R HH T g @R 3 T

URdIa e 3§ a1d-9m A F g Al wraur fg 7§, S{—dige af § 79 oMy & it aras @) faedt 1t AR & R fgea =t v s weh s1aw! @, 9 96 @ 14 9 B oy e
F O, I (1 eP 9R Sifrard Rien @51 e s sifa

ara-sm (PR ud fafm) aififyam, 1986 veen g i 8, Fod sl WER 3 2 & sifieaR wult frell § I a1a1-om Midige au1 SUsH Woe gR1 Rramfieval &1 ag smew fear gan g 5 3
-4 BT AH T TR IOHE T B SHF 0 R wp waierd e o, Sra-ufiet & uRari ¥ onife Temar SR ISR Iuwe T O SR 14 3¢ 7% fht Ry § e 7 FE ) w<doe
T B YR AR 0-HoIgd DY A [ G20 F D1t 708 IR 8 81 59 o # IR-TWOR T (Teisn) ot oM w0 § Tgdi o @ ) QR0 & R, ‘Sau aarsh si<iaq’ Teiish 3 g foxm &
Tgd WG B e 81

A-AEd Had UE SR g, oiftg &% famifval @t 918 71 ara-ym S Ffa d a1 i RG WeR &1 8 T8, T g0 9T 31 S1d-91 3 SHw] gAR wita, Rign, dgar, dde iR gHaar )
TR AT @S FA TR M1 ET B 1 39T ARl § 6 AR TR A AR ARG TR 0% IO & 9l a1 395 Uid JonT I 3R S1d-91 & SR forsit a0 1 99uA 7 51 §)1 99 Baer e aide
Igd &Y, o o & yidl TRl & Sraus o Wiifddar 9+ 3§ 961

Q.No: 45 IUgad TRV & SUR, i & & 3Q A &1 994 Fifoe-
A T WY F HRT TWER TTa-Aogd b1 A7 i RBxn & S0t v SR @ R
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B HRA ORI 3 & @ 40 % ¥ off ifte d e Y @ iR Sfew fRan ¥ g Ao 71

c -t Faw TP SR 7, Sifig o il 3 oig 81

D FfY TTererd @t ikl S!S o7 76T uga Y wae, Sl W Uik S¥ df 4fAsy & G Sra- 4 O IS RN B e e et g1
Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

A= R fou U Teiw B ygaR g T U & Yed 3R IR a1 [3des &1 99 FIfre-
1 T o1 TRl UeR I |

Sl W aifer F% a1 ufas & gal”

HiA MuTeer HRer @t 3 diRmEl aa-90 ¥ 9 R B ored S €, R e, 6 § 8RR AU Ahged [SuT gl §) J-5e Bt 99 § g5 o4 F & o faawr € e, 399 ot
fograr @ fasfia 81 Tt & g ol 7 @ It § 2 9-5W U@ wga & IR 9w ¥, 9% aFaieRt 31 e Bl

YR SR FA=ITe 3T & T 40 % F ot 3 dr e Y A R Sl faam & e Aoy 81 el siidEet gRT HHIHTE Bl X R & 1T oA i o1 Rien 9 Aa-ge A dRd R oW FA F R Aoy
foran STt 31 Hswsrdt 508 g, Hfiwur i a1 R 8 Sie-se-$E, R, ToiE SR, I8 &1 a1d SR Sife R R W Bed U s 2d §

Rl $Rum & a1a-31 Aoa F e Rt maus e e €, SR—ieg o § 79 o & 5 s @ et of AemR & R frgaa 72 e s @2f srat 3, 99 99 3 14 9§ 3 o1g e
FR A, T4 1Y SR ifard g &) Faw S3m i1

ara-y9 (FRy wd fafimg) sffgn, 1986 ggan fawga o 7, e sl WaR A &x & siftfmar Wit el & e ara-om wicie auT 3usd Hioee gR1 Rranfieiial 3 ag snew faargen 3 i[5 3
TA-Y9 B AP $T R TG T HY | 39 [ [0y wpat dafera fovw o, a1a-9firet & aiart 7 onfie emaar 3R AeR Iuds FR1T ot 3R 14 98 aa fedt fRufd & aergdt 7 S o adam
TG ¥ YRTT WHR TA-Toigd) B AP & R F w1l gory aR 1 31 30 Frf & IR-WWRBR e (TAeitan) ot 99 T J Wga IR R S ISR F R, ‘S0 e s’ Tsien 3 39 o &
qgd WIga s o g1

T-AOGY Had UH SR T, Siftg 7 il ot 9ig 31 S1a-sm Sl $if I o1 i Rib WeR 31 @ AL, A 5 Taa1 ¢ ) T0- B qHR gt vk, Rien, dv, $3e T ok gHed )
TR FA TS P ToR 3 TE 1 SIS APl ¢ 6 AR TR Y ABR AR TR 96 90 F 9 9T 3905 T om 38 IR 919-91 F SR ol 99 &1 99 A {5 €1 99 e & wids
Tgd B, ol g & Wi TR & Frau B @fdddr &1 7§ TS5

Q.No: 46 A ¥ Q v ug &1 Wi Sudfad wenisr & T foan man 22

A R-TWE
B Sr-Hegdd
C -5

D ym-faer

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

= - fRu e i Y uge} g T uRAl F el S IR a1d ided @1 9ue Sifone-

RF! ST 4T el U ) T

Sl IR e B} at Hfas & pel”

Hf Marcer +Re’ B 3 Gl -9 A 3 g B g Bl €, R 83, Tidl § R WP 3G HhSHd BT g § 1 Ae-5e B 99 H g5 47 B & o faaw € S, 39 e
st ue fawfia 91d ga & g ok @1 § &l @ 2 9Id-4M U 9gd &l TRIR TAw €, T8 AFaieRI &1 49 g

URA S =1 31 F AT 40 % F 2 oift v e Y ¥ R Sfied Ram & R morR 81 76T sfiiadt gRT 4ATIIE Y R R 3 I S wredi 1 Rien 7 a-ge F dfa R 99 B & R Ay
e ST ¥ | Fgherdt avs &, ivur i a1 ST € BrR-a=-$EH, Wi, IS SREH!, IE1 T 1 SRAM! 3 RIFT TR HH $d g R & &

YR FfRer B T1a-97 A6 & o R weur fe e g, Sh—dcs ¥ @ o9 org & 53 aras &) et o AwR & R Prgea 7 e smom wh srawt B, 99 99 4 14 9 3 o Jur
FX o, T (e 9k ifard Rien @51 svawn Hwm anfe)

-9 (PR ud fafmm) sififam, 1986 veen Rkga &1 ?, s srfd R 3 23 & sfisaR et forell § Iy a1a1-5m isige a4 30sH Woiee gRI RramfieiRal &1 ag omewr oo gan g 5 3
-4 P AB T TR GG T HY 1 36 Y ki wper wenierd vy ot sra-aftet & e ¥ e Semar ofR A9MTR Iuwsy IR O SR 14 9 7% it Ry § moigdt 7 FwE ) w<fom
T H URT IWOR ST0-ToIg B A o G20 F BIw! 7018 IR Y& 81 59 SR H IR-TRBR TT6 (Tosn) ot gaH w0 J Tgdin o @ §1 QR0 & R, ‘sav aarsh sl Tiish 3 g fasm &
9gd Weg &M 51 1

TA-HIG Paa TP SR e, g F3 fmiEl 1 7 71 aa-31 S Ff A7 BT AR R WER $1 81 76, 9 51 TED1 ¢ SIa-97 B A1 gAR) Wi, R, g, Wae ofR meed )
TR Fard TS A ToR M1 K ] 1 3T SHTaxaddl § 6 AR TR | AR AR WR 06 T & 9l A 390 Ui omT I 9 S1a-9 & HRO| 6t 928 31 990 7 51 §) 91 Ao @ ade
Tgd B, Ol I & Uit FRRS! & S1auA ot Wivifddar o+ 3§ 961

Q.No: 47 Iuer T & STYR, HRd S A7 S H Sl faam ¥ g Aoy &1
A TN 40 % W 2t 3T A e T F IR

B T 40 % 9 +f 3 dhr ia W 3

C T 40 % & Wt F1 aFT TS a1 4 R

D T 14 % 1 i drr e Y F ew

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:
& AR U T TR BT UgER Ug T IR $ 999 SR IR a1 Aded 1 991 FIR-
R ST 4T Tgl U B T
Il TR e X & ufas & Gal”
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 10/44
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H3 Trererd AR 3t 4 dfdaal aw-0m § TS iR 1 e Bt 7, O e, Tidl # R @ S AE S (SO o 81 Wer-gad 3t 39 | @ ¥
fasTe us fawfia 319 9o & e oiR 31 € It § 2 S19-90 U agd @ IR I ¥, 9% AHaiieR &1 g g1

YR SR fAITe <=1 & M 40 % J f S A e W @ N offe foam & foe Aoy €1 g8l siftviaeT gRT FTHTE B @R R & 1T o a=di 91 e 9 Wa-ge @ dfd R oW A F e aegy
foan STt 81 Few st ovs g, iwer i a1 R 8 Sie-a=-$EH, YR, TRiE SREF!, I8 §FF a1 SR oife; RIFT R T Bed U far 3d 7

YR e & ara-om A9 & R R weym e e E, S—dee af F 9 org & R aae 9 Rl ot AR & R Prgga 7€ e s @b srawt B, 99 a6 3 14 9 39 ofrg wmn e
R W, I 6P R e Rien 35 Fxawn e anfe)

- (Fiy Td fafm) siffaw, 1986 ugen kg &I B, e srfd WeR 3 2w & sfieaR wt el § sy a1at-om ioige auT 3usH Hoee gRI RranfeiRal o1 ag smewr fear gan 8 5 3
-5 P AP BT T TRHT WA P 39 ¢ [ Tpat fera fpe oid, Srar-4fie! & afkari g i eraen oiR A9 Iuas FR1E ot SiR 14 39 7@ il Rufa 7 wegdl 7 o3 S adwm
g A URTT TR aTd-Aoigd! b1 A {5 o & w1t Ty 7 T 31 390 o & IR-TRSR e (Tsiten) ot T w0 J Wga R R &1 IR0 F A, ST HIeh rea Teien 3 39 o &
gd WIga H far

TI-AAE Haa U ARt T, siftg v Rl 3 o 31 ara-sm SRl IR I 1 it Rib WER 1 @ A, A 5 9991 § | I9-o B T g ik, Rien, v, S8 ok gFed )
TR Tara TS A TR 37 T B 1 3AINT HTaRHT @ 5 WOR TR Y AR ARG WR 0 T F 92t T 39& Uid TonT I 3R T1a-91 & SR b 72 31 g9vH 7 A §) T9 Hae we wide
T5d BN, O T & Uidt TRIRS| & Srau= & W@ivifadal o+t 3§ 951

g o o s e A e a7 T N g o RERAE T ¥ R T RANER F U T e oo R BT g o e i O e a0 S ey TV R o™

T & e faw @ o, S99 ot

Q.No: 48 IT Tl & SHTAR, T1G-31 § Yol Ugan g F7 SH-91 82

A qra-4 (P g i) eiftfam, 1986
B ra-99 (RS vd R_Rfwa) sifafaw, 1976
c -4 (A wd i) eiftfam, 1982
D 1a-99 (RS wd R_fma) sifafaw, 1980

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

A= R fou v Teiw B UgeR U MU uR & Yol 3Rd IR a1 [ided &1 99 Fifne-
! ST o1 TET U Y '

Sl TR giferr ¥ & Hidsy & Hal”

Ff e HRe A Uit 900 § 93 AR B e SR ¥, PR e, i # R W S Ahsoy st g 71 e-$e 3 S 8 a=1 49 7va & i e ) o, 399 ot
fagwr @ faofia 810 T & R ol 71 8§ Id! € 2 91-4 U9 aga & TR 99w §, 9% aFaieRi 3 g o

R SR ATl &1 & 1M 40 % & 2 S n e Y A T Sfter e & i Aoy 21 ggT SitHIae! gRT SHIHTd B aX B & T o aeel @) Rien @ Wa-%e § 3 IR oW 9 F R Aoy
{3 ST §1 Fe@erit 56U g, v T a7 SR 8 Sle-aw-$EH, R, IRE SRAFI, I8 §1F a1 SREHT sife RIFT R ST $vd §U @ 4d 7

YR e B S19-37 A6 F e Rl wreyF P e §, S8—dce af A 39 3G & [Hd T @ el ot AeR & e Prgga 7€ e o @l Sl B, 99 a6 9 14 9§ 3 o HE T
FR A, T4 1Y SR ifard g @51 Fa Hm St 1

ad-sm (PR ud fafmm) siftfam, 1986 ggen favga i B, e sl WER 3 & & siftieaR wult el § Iy arar-om iidige au1 Usy Woae gRI foramfeival o1 g smewr fear gen & & 3
-1 B A FT R T TG FL 39 [T a9 wgat wenferd g o, a1ar- 40t & aRvart &g onfie gemar sk I9R Sucey FR1e a1 iR 14 a9 0 et Ruf & Awigd 7 &= 9 admm
g ¥ URT R T0-Toigd) B A & R F w11 v 3 ) 81 30 e A IR-IRBR 76 (TAoitan) off I0 T J Wghh IR R T IR0 F R, S9u =ieh i Teien X 39 o A
g WG H fbar g1

SA-Aigd Had Uh SR e, ifig &% il @t 95 31 ard-9m SRl $Afd Aea 31 a1 R R o1 & T, TR g0 IaBT 8| S1-47 BT FAT gHR W, Rie, G, $der iR gHaar )
TR FaTT TS B ToR 3 TET ) SIS APl ¢ b WHR TR Y AP A WR 96 90 F 9+ T 395 Tl FomT R 3IR a10-41 F SR 65} 93 &1 999 A 5 &1 99 e o gl
Tgd &Y, Fred W F Wit AR F TT B @iifasd 1l 7 9061

Q.No: 49 IT{a Tl & AR, Ufkyan “oFH! S 41 5T Ued &1 W Sl W Ui ¥ dt 4w & o e A § el weiia @

A sl aedt der | Gafa B
B -4 & T Bl
c A 9 S

D T < gHR & o & Hafid R

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

= R fou T TR @Y uga O T WAl & el SfUd IR ard fidey &1 999 Fifere-
I ST o1 8T U B WA
T TR diferr Y &t ufds & wanl”

B TiTaer SR 3t 3 Ufdml ard-am A I3 iR Y agd St 8, R e, Tid # TR % A A S Mo g §1 Ae-BeA 31 39 H I 41 $ & (g faw g1 Wiy, 39 sifte
fosta o fowfa d1d aar & o ok o ) Il § 2 SId-5 U g & TR 9H §, 98 gFaiNaRI &1 49 8

YR SR A= &1 & AT 40 % F 2 3 dnT i a1 § N ol faam & g aomy 81 g1 sirdad! gRT I B gX B & T S =i of e 9 Ya-ge F dd IR 9\ w1 F e ooy
f&a ST 1 Pt 3U8 7, 2fiwur mff a1 ST D Bre-a=3-FIA, T, IS FREF, TG T I SREFN S RIF R $H F g @i & 7

YR WfdeH § ara-91 A F e Ry waum fee 7§, S8—dieg ad § o1 oy & sl aras &) et 1 AR & o Fgea w8 v s wi aaw) @, 99 9@ 9 14 9 3 oy geTd [
TR A, I A Yo 3R fard Rien B sgawn dm |

-9 (PR vd fafm) sififam, 1986 veen RAvga & 7, R sl WeR 3 23 & sifiwaR wult el § Iy a1a1-m wisiee au1 30S9 Woe gR1 RiamfesiRal &1 a8 o fRargan g 5 3
-7 P NS T TR TG TG BY ) 3T e A wpr Henerd e o, -t & ufart ¥ onfie Semr ofR AR Iuwsy IR 9 SR 14 96 7% it Ry & woigd 7 TR o) w<dmm
g H YRT WPR TA-Toigd) B A5 & o § w1t 7oy 3R 81 39 Ff & IR-WRAR T8 (Tshtan) off T0F w0 § Wedi IR W® T IR0 & R, S99 qaeh srei Telien ¥ 39 faxn &
g WA 1 foan B

TA-AeiGd Had UH SR e, oiftg % Rl @t &g 71 ara-ym SRft Fif A o1 SR R WeR 61 & T8, TR 5H TGS 71 SI-91 3t TH1 SR Wit Rig, dgar, Sder ok gHadar )
IR TaTd TS FRA TR M1 KT 1 3T SHTaRamadl § 76 et TR Y A< AfId W) a6 A & Wl AT 39 Ui qorT 32 3R S10-41 & SR ot 722 31 599 7 A 31 Ta At aide
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 11/44
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I5d I, P8 T & Uit TRRG] & S1au- o Wvifadal o+t 3§ 951

g o o s e A e a7 T N g o RERAE T ¥ R T RANER F U T e oo R BT g o e i O e a0 S ey TV R o™

Q.No: 50 1 F  YigaTaS AT Wg 1 94 BIRIT-

A CIGE
B HRd
o} U
b) @

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

e AR fRu e Teiw 1 ugeR g T U & wed 3fd IR A fawe &1 99 Piforg-
R ST 1 5T UgA B Ta

S W Uit H) @ ufasy & el

F e =Rer 3 ikl ara-90 § 9 AT B e SR ¥, R e, i ¥ R W U gahged Aot g 31 BeR-Fe 3 99 8 a1 49 va & i faw 9 9, 399 ot
fagmrn @ fofia 210 Tt & g oiR 71 @ I § 2 9-5m o wga @ iR que ¥, 9% TFaieRl 3 g B

YR S e 31 F T 40 % F 2 oifde v e Y ¥ R e Ram & e wory 81 76T sfiadt gR1 4T B R FRA F I o wrwdl o1 Rien 7 ¥a-ge § 9 IR o9 T & e aeg
foan S ¥ | FgDsid 3Us &, iwer il a1 s € Bre-a=-$e, Wi, IS SRAH], TP S a0 SREE 3 VI | B $d §U e 4d g1

YR Wf3er B -9 A & g faft= wraym e e 8, Sh—dieg af I $ g & el arae & fosdt oft AeR & e g =i fosan s weh sraewt B, 99 96 4 14 9 3 oy A T8
F T, 5T 1P 9k e Rien &) e Sy sfe)

ard-om (Pl ud fafm) siftfyaw, 1986 ugen g i 7, s sl WeR 3 39 & sifieaR wft el # Iy a1a1-4m Wioige quT SUsH Woee gRI frarfaeival o) g omewr fear gen & f& 3
-1 B AP FT &R YR T FI & [0 s ga o fu ot a1a-4fie! & aRar ¥ onffe Jemar iR ASmR Iucey FR1T 1E 3R 14 99 0o et Ry & mergdt 1 $18 Wl adam
g & YR THR S1d-Aeig) B A o Rzn & H1ot vary o 38 21 39 o1 § IR-WRar Wira (Teohta) off 99 &9 J T8dl ox 38 81 IR0 & R, 9v aeieh siian’ ueited 3 39 = &
TG W H e g

A-HEd Haa T ARt T, g FF il 3t 519 71 ara-om SRt FHA A7 B <l R WER B & T, R g1 TEDT g SId-97 B FEen gaR) Wi, Rien, G, WdgA iR mead W)
TR Fa TS B ToR M I 71 SIS aRAH ¢ b WHR TR F AHR AfRATd TR a6 o & G A 35% vf Tom R IR S1a-91 & SR 5 9= 31 997 A 77 ) 9 P @ aids
T3 ¢, RO WY & YTdt Ae] & S1aus @) Wvifasdr a1 38 9@ 1

Q.No: 51 7 & § Hfady A F-a1 0 82

A TEY TH
B ST T
C % TN
D feg s

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

= iR T T TR @Y yga g T WAl & el Sfd IR a1 fades 31 999 Fifere-
R ST 4T 76T U Bl T

Tl R i A @ ufdss & wen”

FfY Marerer <Rer #t A dfdal ae-0m 93 R B oed wwdl €, SR we, 6§ &R G 9 AGsd el gl 81 AaA-ged 31 99 W I 09 FA F g e @ 9y, 1 it
st ol 813 9w & R SR 791 € Td! § ? S19-2W U agd § IR IhT 7, 9% AFaieR &1 g 81

URA S =0T 31 F AT 40 % F 2 oiftre TR IS Y § R Sfied Rdm F o oy 31 w6t st gRT 4ATiIE Y R R 3 o o wredl 1 e 7 @a-ge § dfa R 99 B & g Ao
e ST ¥ 1 FgHerdt 30 J, fiwer mff a1 R D FR-T-FIA, W, IS FREF, T T I SREF e RIFT R $H F4 g¢ @i &1 g1

YR WfaeH § a1a-91 Aa & o At waw fe 1§, S—diee a¥ § 7 oy & 6 aras &1 el 1t AR & o Fgea =g v s wh aew o, 99 9@ 3 14 af 3 oy gera A
F W, I e SR sifard Rien @51 e s e

-y (MR e fafmg) sifdfan, 1986 gean fawgd FFF 8, s srrld WRaR A ox & oiffimar Wit el § e ara-m vire auT 3ue9 Hiode gR1 Rranfieiial &1 a8 sex feargan 2 f5 @
-9 B ABA PT TR TG TG BN 39 e iy wpar Faierd R ot sra-sfhet & afart ¥ snfife Jemar ofR A9MR Iuasy R o SR 14 9¢ 7% i R § morgd 7 7w S w<dmm
T B URTT AR T10-ToIg DY A [ G20 T D10t 70 IR I8 §1 39 SR J IR-TRR T (Tolian) ot ToF wu & T8 o @ §) SR & R, ‘Sau Sa1si sieieq’ Teiish 3 39 foxm &
9gd We1g M 51 81

TA-Hugd Haa TP SR T, g T3 NmiEl 3t 9 71 aa-9m SRit Ff A7 I A R WER F1 € T, IR 59 DT 7| SI-o1 B FE1 g1 Wi, Rien, g, Sae iR mHad )
TR TETd TS HRl ToR 3T G 1 31 IHT @ P PR TR | AR Afckia wWR a T F ot AT 39 Ui TonT F 3R 919-97 & PR 5 9= o1 Taud A 59 &1 J9 Fraas ue qide
Ugd B, ol W & Yidl ARG & g @ WIHied &9 | 9351

Q.No: 52 =1 # 9w # Si-0 Wi 32

A s |y
B Eivksiof
C e Sy
D o7 WY

Correct Ans : B
Subject : Hindi Bhasha 01

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 12/44
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===y YW= IR Rt e e R Al T e e e

Passage:

A= T T UGIR g ML U & G I SaR ardl faswed 1 999 Fife-
!, ITH!, TR B 3 B wEr
e SO g ST § T8 @,

Slig @1 4R # 30 $I g8 &

A < 5o & adl T, A A
RIS, TG TN D

I g0, qH P, ez it &
AT 3Rt 3o, g e i @

IR & N e, R A Ok |

1 7% fite I 31 0F g Fer a1
TAAALIE, WA TSI,

O SR A A A T8 B

R I8 9 qH X - 39 R I IS 8,
&=, A - T8 PR Bl I9IS ¢,
S PR 99 gH SEsA @ |

Q.No: 53 1 # & Sudaa ufeadl & aar &1 A qarg-

A TR qHf

B MY Rig R
c SHTANGATY ST
D HRrar§

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

Y FTH™ BT UgHR gF T U F T SRd IeR I e 1 997 Ffr-
&, A, wwE, g, T Sl
TS, IFP!, IR B 9 B ugar
AR ST 6% O © T8 @,

Slig @1 URT # 30 B §g &

T < o B 7€ W, T A |

R I, P oga TN @

a0 aad, ga wal, e s g
Qe 3Rt 3o, G e it &
IR Y 3 R, srR AT

T TR e 99 B T g9 Fer |
T ¥ A A, 79 H 9 U @,

30 F THHR T AT A I D

R U Td g1 B - 39 W G TS 2,
A, i - 98 G B e ¢,
T 31 DR A I gH ITSd ol |

Q.No: 54 IH T & HR Wl H fFad 757 B F8 @1 2

A <=, Hiwrm
B o Ft arT §
C RuEH

D AR & dg A

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

FAE=: T $T UgHR gP T UL F IaY I Sak Al fadey &1 999 Fife-

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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===y YW= IR Rt e e R Al T e e e

3IB!, IGD, IA g AT &1 ggarEr
ARG ST A5 S B @A A,
SiaT $1 4RI H U B 953§

A $o & 7&l W, W A
RIS, IS TR

a0 aud, qa &, oo sftmeh &
i1 3RSl S, G fba it &
IR I O e, 3R | 9l

1 R fiie I 3 TS gu Ferl a |
WAAF, WHTIUSAF,
3o H SR gH o9 F S &

R 4% TE gH PR - 39 R T IS 8,
o=, HART - 78 $R B THIS @,
SR ) PR A A g IESA A |

Q.No: 55 1 & § ‘et &7 o 1 82

A Ford Treran & e/ Rrg fovar o1 9
B R HE A 3t WY
[ e, Sftd HR & arelt HIE 91 A1 avg

D S ogd S

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

= PO 1 UGIR g ML U & IaY I Sk Al fased &1 999 Fife-

THH, JHD!, T B A B TeEEl
AP ST 5T SR § @ @,
Sliae @1 YR 30 $ g8 &

< 59 & adl W, A A |
R@IA S, T UgE I &

qu a0y, ga wal, oz sftmrh &
T SreRel g1, gH fba ot 8
IR F N ), s A A A

1 B fife 9 31 05 g el 8l |
@A AW, 70 WA,
ST B TFR A 39T I TS &

R ¥ §9 [0 FX - 39 R TS TS g,
<, TN - 98 HAd B 9D g,
S B IR 91 gH IES 8 |

Q.No: 56 =1 &  wgg &1 31 &y 82

A Ss

B S gI; S
c 3R

D S

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

A T B TgIR TP T U & He IR IR I fawen &1 79 Fiforg-

YS!, IS, YR g A9 B ugarl
A 1o 8T ST B @

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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===y YW= IR Rt e e R Al T e e e

e @1 RT3 B T @

TH S $o &1 7€ W@, W A

R I, g T

A wad, gr @i, sifdw ftmrER g
e et 3o, G foba et &
IR A o e, R Ul &

T TR fife 91 3 TF qH Fer a |
TWAAL E, WA TSI,
AU F AR A A AT D

R I 94 gH F - 39 R TP T ¢,
&=, HAi - 98 $REd 3 9IS 3,
SHA @ BRI H s gH I@sd 7 |

Q.No: 57 1 # 9 910 "R &1 §81 FA a1’ & ¢ TF ek 1 997 Pifvie-

A T
B i
o Ty
D Ty

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

&1 HIO B TgaR I T URAT & T IR IaR a1 [aded 1 I FR-
!, I, AR 8 e B weErh
AT 39T 6T ORI © 6 @,

e 3 uRT B o 3 98 &

S o B T8 I, Al A

T A X B, TA UGS I 8

g and, gu &, sifawm st €
AfF sreRel 3o, gH fra A &

FR A 39 e, o Al |

T IR fife 91 91 TP gH T o |
T@AAW S, WA I USA D,

ST H PR TH AT | TwSd §

R g G gH PR - T R T IS ¢,
A, W - 9% PR &) Taed ¢,
S ) BRI A O g 9GS A |

Q.No: 58 ffifea & & wiRe # -3 9 32

A oy Yy

B oA Y
c o wfy
D spfe Sy

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

&1 B B Tga I T URAl F T IR IR I1l faded o1 I FIR-
HS, ITD!, THA B A9 P vgEE

AR ST A5 I B @R T,

Siia ®1 4R H 3 $1 953 &

S o B Tet 9, A A

W@ IR, P rgE T A

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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===y YW= IR g g o o N e A A e am ™ T I oy i Bt 8 Ram G OREEE 0 U T e o DO R AT e A e a0 0 oy TV WE e el

qu Tmd, gu o, sifawa fmr &
AP ot 3, qH e A &
TR Y O o, sr AU |

1 7% fie I 3 U gH e
TWHAE, WA TSA T,

T B THR A 30T I TS &

R I8 96 g1 B - T R T3] S 8,
T, i - 7% PR B TS 8,
S &1 B F A gH I@sd §

Q.No: 59 Iudad Uiy & SiuR Read R 31 gfd Sifore-

T SR, WS Ham @ e d
A UG, BT
B I, YR
C ™, I
D e, HE

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 60 = & F HH-1/F RIeror e &1 w=R 82

A TREd wR

B A ®R

C AR TR

D TR ®R, Y TR T T ®R |

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 61  Which of the following is divisible by 13?

2461575
fofafea ¥ am 13 3 Ry &2
35861
A
35861
45781
B
45781
98295
C
98285
13676
D
13676

Correct Ans : D

Subject : Mathematics

(221\237:16126 If% + % + % = 1, then find the value of x.

A +3+2 = 1, x BTHMA I DI

2
A
2
4
B
4
C 1
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 16/44
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8

Correct Ans : B

Subject : Mathematics

Q.No: 63 Find the value of (2.3).

2467145

(2.3)Y 1AM F1d BT

12.467
A

12.467

12.167
B

12.167

12.189
C

12.189

12.247
D

12,247

Correct Ans : B

Subject : Mathematics

Q.No: 64 The ratio of present ages of A and B is 4 : 5 and five years hence it will be 5 : 6. The present age of A is:
2467276

A 3R B @ a0 S $1 S 4 : 5 3 3R Ufd a a1 Ug 5 : 6 8 TN A &} T 1Y B:

10 years
A

10ay

20 years
B

20 T

25 years
C

25 9f

40 years
D

40 9§

Correct Ans : B

Subject : Mathematics

Q.No: 65 Ifa:b=2:5,then find (3a + 4b) : (4a + 5b).
2467442

gida:b=2:5 (3a+ 4b) : (4a + 5b) TG BN

26:33
A
26:33
27:34
B
27 :34
5:3
C
5:3
D 5
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 17/44
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3:5
Correct Ans : A

Subject : Mathematics

Q.No: 66 The sides of a triangle are in ratio 13:15:14 and its perimeter is 84 cm. Find the sides.
2467529

T Y 3 Yemall ST S 13:15:14 § 3R TS uRAT 84 Jht 1 el &) I wifere
26 cm, 30 cm, 28 cm

A
26 ¥ft, 30 I7f), 28 it
25cm, 28 cm, 15 cm

B
25 3, 28 Wi, 15 i
15cm, 13 cm, 14 cm

C
15 9ff, 13 Ifl, 14 @
35cm,39cm, 42 cm

D

35 3ft, 39 I, 42 it

Correct Ans : A

Subject : Mathematics

Q.No: 67 100m=................ an
2467545
1008 = i
108
A
108
108
B
108
10%
c
10#
108
D
108

Correct Ans : C

Subject : Mathematics

Q.No: 68  Simplify:
2467756 5 5
(0.137 +0.098) +(0.137 - 0.098)
0.137x 0.137+0.098 x 0.098

A BT
(0.137 +0.098)% +(0.137 - 0.098)*
0.137x0.137+ 0.093 x 0.098

2.0
A
2.0
0.2
B
0.2
C 0.235
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 18/44
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0.235
0.039

0.039
Correct Ans : A

Subject : Mathematics

Q.No: 69 H P i
Y o, Find the value of (V196) + v49).

(V196) + V&9 ) &1 HH J1d S|

2
A

2

3
B

4
C

4

5
D

5

Correct Ans : A

Subject : Mathematics

Q.No: 70 In an equilateral triangle, the incentre, circumcentre, orthocentre and centroid are:
2468134

% THEE BYS ), siads, tRe=, dad= AR Isd §:

Concylic
A

T

Coincident
B

Hurdt

Collinear
C

wied

Non-collinear
D

TR-WfEd
Correct Ans : B

Subject : Mathematics

Q.No: 71 Find the multiplicative inverse of 3.
2468261

35T T URIcH F i |
g3
A
83
38
B
3-8
38
C
38
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 19/44
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D 83

g3
Correct Ans : B

Subject : Mathematics

Q.No: 72 A number is 6 more than one-third of itself. Find the number.
2468392

TS G W & 0 fae A 6 e 31 Tem 7 PRI

9
A

9

5
B

5

6
C

4
D

4

Correct Ans : A

Subject : Mathematics

Q.No: 73 Two farmers have 48 metric tonnes and 144 quintals of wheat respectively. Find the respective ratio of wheat they have.
2469597

3 A & Uy B 48 Hifed e AR 148 e g &1 9% U g 1 HHL: 3 I Fim

10:3
A

10:3

3:10
B

3:10

2:5
C

2:5

1:
D

1:3

Correct Ans : A

Subject : Mathematics

Q.No: 74 The ratio of 12 dozen bananas to 12 banana is:

2469671
12 &5 & SR 12 FA FT UM 3:
12:1
A
12:1
1:12
B
1:12
5:3
C
5:3
:5
D
3:5
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 20/44
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Correct Ans : A

Subject : Mathematics

Q.No: 75 The ratio of 18 months to 1.5 years is:
2469693

18 W18 ¥ 1.5 99 HT 3UE §:

9:8

A
9:8
1:1

B
1:1
7:9

[
:9
:9

D
8:9

Correct Ans : B

Subject : Mathematics

Q.No: 76  Find the product of (2x* +x +3) and (x +2).
2469825

(2x%+x = 3) 3R (x = 2) BT UAGA FId Bt |

23+ 5 +5x+6

A
23+ 5x*+5x+6
X+ 35X*+5x+6
B
X} +3x*=5x+6
2x*T4x*T5x T 6
C
234X -5x 6
2x*+5%*+3x+6
D

2x*T5x*+3x %6
Correct Ans : A

Subject : Mathematics

e a7 P ey T RERAE Td ¥ Rem R OREEE

Q.No: 77  What number should be subtracted from both terms of the ratio 15:19 in order to make it 3:4.

2473445

S{UT 15:19 & I UT | T eI alfs 3UId 3:4 & &U)

9
A

9

6
B

6

5
C

5

3
D

3

Correct Ans : D

NN T g e BATE R WA e R O e e T S e Y
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Subject : Mathematics

Q.No: 78 Teachers while discussing problem-solving as an approach to teaching of mathematics, articulated four views. Which of the following views does not justify the real
2475397 meaning of this approach?

Rigrapt 3 fdrd Rigor & e & w0 F wregr-gmy™ R 79 SR gL AR R oad e Rafif@a ¥ § o1 @ R 50 Rew & axafes o o w6 78 sewm 2
I think many question found in the mathematics textbook can be used for problem solving

A T2 T & 6 T 3 Ureugas ® UIT N aTet o W U] G 3 R SuEiT 6 o I €

I think it is better to connect problem solving with general mathematics class

B T T & T T S S G MR @ HeT § e Sga §

I think there is no correlation between problem-solving and mathematical reasoning

c 3 T & R werear-garr R iy 7F & @9 B dey Tl R

I think question on problem solving should be made from situations based on real life
TR I § b TR S W Uy IRafde sitae R reiva Ryt & s o arfee

Correct Ans : C

D

Subject : Mathematics

Q.No: 79 Curriculum does not included the environment:
2475402
ursTeaf & B w1 wafee i T 2
Academic of School
a ¥ Rignfag
Physical of School
B RS kaghineg

Social of School

T T WIS

Neighborhood of school
T BT M-I

Correct Ans : D

D

Subject : Mathematics

Q.No: 80 Which two signs should be interchanged to make the given equation correct?

2479411
30+-5x6+2-32=13
fa T TitEo 1 W I o o 3 i 3 e 7 agen S =i
30+5x6+2-32=13
+ and x
A
+ IR x
+ and +
B
+ iR+
-and x
C
- 3R x
+ and -
D
+ iR -

Correct Ans : B

Subject : Mathematics

Q.No: 81 If A means x, B means +, C means - and D means +, then-4D 16 A5B8C5 =?

2480960
g ABI N x, BATHS, cHF - RDF S+ 8, A-4D16A5SB8CS =2
9
A
9
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16

B
16
13
[
13
75
D
75

Correct Ans : A

Subject : Mathematics

Q.No: 82 Given interchanges: signs + and +, and numbers 2 and 4; then the valueof 21 +3 x4 +2-11s
2481026

foU T exeie (0 H wEe): FIE + R +, ARTEM2 iR 4; D21 +3 x4+ 2- 1 HAAR

10
A

10

9
B

8
C

8

17
D

17

Correct Ans : D

Subject : Mathematics

Q.No: 83 Given interchanges: signs + and +, and numbers 4 and 5; then the valueof 15+ 4 x 5+ 2-3is
2481054

U Y SeaS (3 F gea): g + R +, SR TBM4 SR S; W15+4 x5+ 2-3PAAR

12
A

12

4
B

4

11
C

11

8
D

8

Correct Ans : C

Subject : Mathematics

Q.No: 84  Of the following, the one situation that will cause the greatest difficulty for a child in the initial stages of reading instruction is :

2481779 fyfafea 4 Q@ Rufd St ugn & FET & urite ol & 1@ 9= & e 98 a9 SeE @1 dR0 3 h 78 &

confusion of left and right directionality

A e o T R an 1 wm
possessing an IQ of 90
8 90 . T ST TG
having older siblings who are successful readers
¢ @A
never having attended kindergarten
° ol Tt s 7 @
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Correct Ans : A

Subject : Mathematics

Q.No: 85
2481789

D

Teacher performs practically and explains in

e maee wu & o fafy § e Fwar § ok ererar ¥ ag Rl @
Lecture method

e fafy

Discovery method

et fafy

Demonstration method

wex fafy

Problem solving method
O AU

Correct Ans : C

Subject : Mathematics

Q.No: 86
2482306

D

What will be the consequence of encouraging women education, in your opinion ?
3Mue freR § Afgen Rign @) wgrar 2 & @ aRomH g 2

The society will progress

A 3T FGm

It will improve the financial position of women

ToR mRensi ot onfifer Rufd & g g

It will hamper the domestic chores

g W B! H T ST

It will make women independent

Correct Ans : A

Subject : Mathematics

Q.No: 87
2482469

D

Evaluation program is
TediP PUHH §
teacher orientated

e IqE

pupil oriented

class oriented

i ggE
Measurement based
AT

Correct Ans : B

Subject : Mathematics

g O e A e e ™ T P oy W REAE T § R T ETEEE

Q.No: 88 When teaching addition of fractions, a teacher came across the following error: 1/2 + 1/3 = 2/5 What remedial action can the teacher take in such a situation?

2482653

D

A &1 A UeId THY, Ua e o Rufif@d 3 &1 9mar S gl 1/2 + 1/3 = 2/5 W R & Rige 71 ITaRes $AS &R 96l 872

Help the child to understand the magnitude of each fraction
Tl e & TRET B gage § T 3 qerd BY

Help the child to understand the concept of LCM

TErIUH BT S{EURT Y I H T B 7eE DY

Ask the child to practise as much as she can

2 I o 81 % ST 3N R & R B

No intervention is needed because they will understand as they grows

et gty 3 savawar T8 § Rife 98 99 T W ST

Correct Ans : B

Subject : Mathematics

Q.No: 89
2482725

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

What are Thorndike’s main laws of learning?
yHeRs ¥ W & gt w7 §2

Law of readiness

qeal @1 Fram

Law of exercise
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g F1 fam
Law of effect
™E &l

D All of the given option
Rz g it fawe

Correct Ans : D

Subject : Mathematics

Q.No: 90 which method makes remediation?

2482766
S 9 faft Farw &t g2
Lecture method

A e fafy
Source method

° e R

c Supervised study

ST
D Question-Answer

TY-TW
Correct Ans : C

Subject : Mathematics

Q.No: 91 Primary consumers in grazing food chain are:

2469375

R T e F Wl I € 8

Eagle and snakes
A

firg o 5w

Snakes and frogs
B

Wi IR Few

Insects and cattle
C

B IR wash

Cow and rabbit
D

T IR G
Correct Ans : D

Subject : Environmental Study

Q.No: 92 In our country, naturally occurring and the most frequent disasteris:

2469443
TR 3 H, WrfE w8 8 el R Te e TR S Al o §:
Earthquake
A
koad
Tsunami
B
T
Flood
[
Cirs
Drought
D
Sy

Correct Ans : C

Subject : Environmental Study

Q.No: 93 Secondary sewage treatment is mainly a
2470433

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Mt dae ITER g U Y 8

Physical process

A
M s
Mechanical process
B
Tif3® ufsean
Chemical process
C
It i
Biological process
D

e ufrar

Correct Ans : D

Subject : Environmental Study

Q.No: 94 Houseboat : Water : : Igloo : ?
2470623

BIIHEIC : UFR @ ¢ 37 : ?

Ice
A

%

river
B

kEl

Sand
C

kol

Soil
D

forgt

Correct Ans : A

Subject : Environmental Study

Q.No: 95 Roofs, doors and windows were still made by placing a horizontal beam across two vertical columns, a style of architecture called “trabeate” or.
2470663

i, exarn iR gl 31 ol off ) SeEiR T 3 UF AR A TR AR T A1, IRGHA P T Al O el A g1 ¥

Arcuate

YIUIHR
Citadel

TG
Steep

Sl
Corbelled

BRI

Correct Ans : D

Subject : Environmental Study

Q.No: 96 Which industry needed water in large amounts during the production process
2472270

g I &1 IureA uihal & SRM a5t A § Ul @Y sravaad gt §

petroleum industries

Yeiferam I
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B software industries

WRTER I

garment and textile industries
C

R SR SIS FA

brewery and carbonated beverage industries
D

TR B 43t R FrEHCS T I
Correct Ans : D

Subject : Environmental Study

Q.No: 97 The Botanical Survey of India (BSI) was established in which year at the Royal Botanic

2472471
Gardens, Calcutta?
YR i G (Sehens) ot g 59 o W SRS T, Faddl | 3
RER
1890
A
1890
1942
B
1942
1875
C
1875
1996
D
1996

Correct Ans : A

Subject : Environmental Study

Q.No: 98 Adolescence usually ends at which age

2472569
RrgRTER SR W g 99 3§ T 2 8
18 year
A
18 I
16 year
B
16 9T
15 year
c
15 9@
17 year
D
17 91

Correct Ans : A

Subject : Environmental Study

Q.No: 99  Which of the following give more calories per unit mass of food is
2472741

1o & Ul gors goraE A B A A o ofie deard T d

Protein

WA

B Carbohydrate

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 27/44
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Fat
C
CLl
Water
D
Tt

Correct Ans : C

Subject : Environmental Study

Q.No: 100 Amrita Devi Bishnoi, along with other villagers who sacrificed their life for the protection of which tree in Rajasthan and which award was recently instituted by the
2473135 Government in the memory of Amrita Devi Bishnoi?

g &t faes, s Aol & Ty, gl o A b O &1 Ran & R o sftae &1 afte i ok 31 @ WeR g1 o < fags &t wia § o 91 R wifta fovan mar are

Ghaf, ‘Amrita Devi Bishnoi National Award for Forest Conservation”

A

T, g St s e e e

Pangara, ‘Amrita Devi Bishnoi National Award for Ecology Conservation’
B

R, TR TR % Ry sngar 3t R e TReRY

Khejri, ‘Amrita Devi Bishnoi National Award for Wildlife Conservation’
C

Bord, o 3t R g it wRe R

Jand, ‘Amrita Devi Bishnoi National Award for Agricultural Conservation’
D

Sig, gt &di fasis gy P Waw ReR
Correct Ans : C

Subject : Environmental Study

Q.No: 101 Which of the following asteroid tracking systems is capable of searching the entire sky every 24 hours for near-Earth objects?

2474074
Fofafed 3§ 9 &9 0 e 2 Rven gl & Fee o) awgsil § [T e 24 1 3 R 1™ 31 9 77 § 9&H 32
GAGAN
A
T (GAGAN)
ATLAS
B
Tead (ATLAS)
RIVER
c
&R (RIVER)
NIVAC
D
fa® (NIVAC)

Correct Ans : B

Subject : Environmental Study

Q.No: 102 How many terrestrial planets are there?

2474090
o vl 78 §2
4
A
4
B
3
c 5
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6

Correct Ans : A

Subject : Environmental Study

Q.No: 103 Which of the following is a nuclear-capable ballistic missile?
2474132

i # ¥ 3 e R v kiR frga €2

Agni-P
A

3f-p

Agni 2
B

3fffr 2

Trishul
C

Easd

Brahmos I1
D

e 11

Correct Ans : A
Subject : Environmental Study

Q.No: 104 Which of the following is India’s most powerful launcher?
2474196

fafifEa § ¥ $F URd &1 9a9 fFa=men aiR 82
GSLV MK-III

A
of.vq.ga.d. Ab-111
SK 4

B
¥ 4
GSLV MS 2

C
oi.oe.ea. . T, 2
GSLV MK- I

D
EREACKI RGN ]

Correct Ans : A

Subject : Environmental Study

Q.No: 105 IDSN stands for:

2474200
ST &1 quf-w :
Indian Dynamic Station
A
35T SIS WA
Indian Deep Space Network
B
i Sy 9 GH
Indian Deep Satellite Network
C
o i dearre Ren
D Indian Dynamic Space Network

e a7 P ey T RERAE Td ¥ Rem R OREEE

NN T g e BATE R WA e R O e e T S e Y

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

29/44
Page - 29



i ffmE=y YW= ¢ 888 PR e e A TN et R e e T T e R I R e TR

S50 SIS WY Aead
Correct Ans : B

Subject : Environmental Study

Q.No: 106 Soil survey of India was established in which of the following years?
2475683

URd &1 ga1 gd & Frafefaa & & e af & wifta fovar mar are

1955
A

1955

1956
B

1956

1957
C

1957

1958
D

1958

Correct Ans : D

Subject : Environmental Study

Q.No: 107 Which of the following is not a primary soil mineral?
2475703

e 4 ¥ S wufie ger @l T8 82

calcium

Pfezmam

clay

Foreeft gt

sodium

R

iron

e

Correct Ans : B

Subject : Environmental Study

Q.No: 108 Which of the following horizons signify bedrock?
2475706

Fofifed # ¥ B @ f&few snuRRen 1 e 82

E
A

E

B
B

B

C
C

Cc

R
D

R

Correct Ans : D

Subject : Environmental Study

NN T g e BATE R WA e R O e e T S e Y
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Q.No: 109 Which of the following is the second tallest dam in Asia?
2475736

frafafed # ¥ S R &1 g & 91 91y §?

Tehri dam
A
Red sy
Hirakud dam
B
S ity
Bhakra Nangal dam
C
YIEST AT Sy
Mekedatu dam
D

parg sty
Correct Ans : C

Subject : Environmental Study

Q.No: 110 What is the main objective of playing games?

2476413
B G 1 4O S 1 82
To be entertained
A
TARRA B
To give some profit to other people
B
TR A B FE A
To earn money
C
e FHA
to accomplish the living
D

Eiiccakabenicas
Correct Ans : A

Subject : Environmental Study

Q.No: 111 In which year was the Badminton World Federation formed?

2476637
Ffiie e e $1 6 o af fovar mar ur?
1934
A
1934
1942
B
1942
1956
c
1956
1962
D
1962

Correct Ans : A

Subject : Environmental Study

Q.No: 112 Which of the following is not a characteristics of “Cooperative learning”?
2477248
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fREm R REmEmy Wedme T T R
Fofefed 3§ ¥ oF "wednll s @1 fadwar 721 &2

It generates a diversified body of methods on instructions, all of which organise students to work together

g e A e e ™ T TN oy W rRi T Tt ¥ R TETEEE O a0 it ™t e

A
T P& W it 21 o ffay P Som @ 2, o it onl 1 0 9 B 53 & R e wa €
Concepts and techniques for enhancing the value of group activities.
B
g TR & I B g1 ¥ Y SauRNG 3R de-id
succeed in completing the work demonstrates student’s independence
(9
B Y G B qoperan femdf Y e i weiia st §
It involves learning through teamwork
D

T &9 76 F wrem A We it §

Correct Ans : C

Subject : Environmental Study

Q.No: 113 What is the importance of a worksheet in a field trip?
2477320
1. It can help to guide participants to observe more keenly

2. They can be used for one kind of visit

& - ynuy A BT - TIE B R HEd 27
1. T8 = 9 3ifie & A 3a & Riw anf o2 o goa @
2. 3% ad TP @ UHR & YA H TENT amm S qHdl @

only 1
A

Fa 1

only 2
B

Faq 2

both 1 and 2
C

1 3R 2 S

neither 1 nor 2
D

A@d1T2
Correct Ans : A

Subject : Environmental Study

Q.No: 114 Which of the following methods of learning is most effective in adult groups?

2477348
w9yl H UiEn @1 Fafifed § 3 o1 @ [ 999 ofie gurd 82
Learning method
A
e =t Ry
Studying method
B
e fafy
Teaching method
C
Rueror fafy
Problem solving method
D

T S fafy
Correct Ans : D

Subject : Environmental Study

Q.No: 115 If school will organise a field trip for plant study the, after the trip students will be able to:
2477391
1.Broadly classify plants on the basis of size
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2.observe the differences in shape, size and patterns of leaves

3.botanical names of every plant seen on visit

TfE Vet Y & e F G o & w1 SmieE S, @ aE F a1g o i § wem g
1. HR F MR R Nl ) o9 w9 § Fifpa o 7

2. Ul & T, AR 3R Yo # SR 3@ &

3. IF R 3 T 9AF N F aeaias T e d

only 1 and 2
A

Faa1 R 2

only 2and 3
B

Faa2 IR 3

only1and3
C

Fae1 R 3

1,2and 3
D

1,23k 3

Correct Ans : A

Subject : Environmental Study

Q.No: 116 The raw material for decomposition which includes dead plants and remains of dead animals is called what?

2477963
3uHe % R w= A Rred 7a D 3R 7a Sad $ ey e €, @ $ead 82
Detritus

A
T (3gTH)
Decomposer

B
3UYEe (SiBIHoR)
Decompost

C
S
Deaditer

D
TR

Correct Ans : A

Subject : Environmental Study

Q.No: 117 Which of the following is true?

2478472
1.Teachers should review and modify the teaching-learning as per the assessment.
2.Assessment helps to address learning gaps among children.
Choose the correct code -
FTHIAT R ?
1.Re 1 A F FuR Rewr-sifm it wien R WA F AR
2.3150H 1 & S YA &1 ST B g8 FA H HEE el gl
TAFE T -
Only 1
A
Fad 1
Only 2
B
Faa 2
C Both 1 and 2
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a1 3R 2

Neither 1 nor 2

g e A e e ™ T TN oy W rRi T Tt ¥ R TETEEE O a0 PR A

Fd1dRT®R2

Correct Ans : C

Subject : Environmental Study

Q.No: 118 What is Gyan Vani?

2478620

I aroft F1 32

It is a TV programme.
A

Tg 0 At Frimh &

It is a book designed by NCERT.
B

g ... 9R.A. T fee ot i€ v frae @

It is a magazine published by all state-governments for students.
C

T AT ¥ forg it TS WHRT GRT TR U whE §

It is an FM radio-station in various Indian cities.
D

Tg fafte W wedt # U um.un. i Rwm
Correct Ans : D

Subject : Environmental Study

Q.No: 119 Continual aspect also includes the evaluation of learners during the instructional process through various formal or informal methods of evaluation, also referred to as
2478717

Faa e i g & At sirafie a1 s wlie & mem | FEmers ufem & ERM Rienfidt o1 geaie «ff wita €, /R 1t g1 STl B

Placement Evaluation
A

R Jeid

Formative Evaluation
B

FAHS Jlivd

summative Evaluation
C

WS Teid

Periodicity Evaluation
D

Safigdr gedio
Correct Ans : B

Subject : Environmental Study

Q.No: 120 The three components of the classroom process are

2478736
el ufehan & A U 8
Isolated to each other
A
T TR A ST
Influence each other
B
TF TR B I ¢
In a linear fashion
C
T X T A
D Disconnected to each other
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T g W i
Correct Ans : B

Subject : Environmental Study

Q.No: 121 One of the following qualities is not expected of a good teacher

2474661
T o= e & i A & 5l o 701 3t orlen 7 @ S §
Sharing warmth, enthusiasm and caring
A
e, JeTe SR fRidT AR HA
Communicating freely with students
B
B & WY GG WaE / FeHd Y
Using the usual method of instruction for all students
[
ot oEl & R v R vefa o1 suah s
Acquiring knowledge about the student as background
D

Toemft & guyfy & w0 & 77 W

Correct Ans : C

Subject : Child Developement

Q.No: 122 Which of the following is not possible concerning a child classified as blind?

2475448
3% 9ot A weffepa =l & wmvel | Fofafea 3 @ S9-S0 T 22
She has 20/20 vision
A
T E® 20/20 ¥
She has a limited field of vision (20 degree)
B
I 2R & A § (20 f&h)
She needs help using any vision that remains, while also receiving adoptations
Cc
I 3pe B Y == gf e} & I Heg @Y Sraxgemdl gl &
Bothaand b
D
A 3R B 3t

Correct Ans : D

Subject : Child Developement

Q.No: 123 motivate people to act in order to reduce the discrepancy between 'what they are' and ‘what they want to be.
2476854

R BT Y 3R 'Y T G I8 &' B S B IR B HH B & o B A & R Ofva B 7

Intelligence

A
LS
goals
B
ag
attitude
(e
¥
behaviour
D
FaER

Correct Ans : B

Subject : Child Developement
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Q.No: 124 Match and following and choose the correct option
2477487

e a7 P ey T RERAE Td ¥ Rem R OREEE

Columnl Columnll

A Milk and milk product i. Vitamins and minerals

B. Fruits and vegetables ii. Calcium

C. Juices. soups and beverages iii. Protein

D. Meat. dal. fish, egg iv. Water balance
e o1 fiem # udt e T

Column [ Column I1

Agy AR gy s i s 3R afas a

Bwa 3R @t uw e

W, qu #R  weqnt w WA

D. A, g, AG, 3 G Gl

A-i, B-ii, C-iii, D-iv

A
A-i, B-ii, C-iii, D-iv
A-ii, B-iii, C-iv, D-i
B
A-ii, B-iii, C-iv, D-i
A-ii, B-i, C-iv, D-iii
c
A-ii, B-i, C-iv, D-iii
A-iii, B-iv, C-i, D-ii
D

A-iii, B-iv, C-i, D-ii
Correct Ans : C

Subject : Child Developement

NN T g e BATE R WA e R O e e T S e Y

Q.No: 125 Drooling of saliva from mouth of a preschool children is caused due to delay in which milestone of development?

2477637
el a=ii & g ¥ AR @1 R e & 6w fia & wer § 38 & SR g 82
Physical development rule
A
Rutiicaccatazens
Socio emotional milestone
B
IR HIdH T HId BT TR
Cognitive rule
C
GrTHeS faw
Language development milestone
D

1T e fia &1 =R

Correct Ans : A
Subject : Child Developement

Q.No: 126 Which of the following is a political cause of juvenile delinquency?

2477783
5 7 3 S PR SRy 1 AP DR 62
Obstructed desires
A
w1 g8
Imbalanced physical and mental development
B
iR TR AR TAR R
[ Lack of proper education policies
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3fera R it &1 sprg

Improper environment of school

e &1 Sy araTaRor
Correct Ans : C

Subject : Child Developement

Q.No: 127 is seldom cited as a cause of cognitive disability till today.
2478223

P S TH IFAIHD ST & TP HRU & w9 H favat € @ mr g

Psychiatric disorders

A
TSR
Prenatal influence
B
T4 g e
Gross brain disease
C
THd AT AT
Infections and intoxications
D

AU 3R =M
Correct Ans : A
Subject : Child Developement

Q.No: 128 Which of the following is one of the main characteristics of children with learning disabilities?

2478297
iR 8 3 FHA-3 e srmadar o gt @5 geT fRvaed § 9 U 82
Their writing skills are much better than their verbal skills
A
FF NG PINA I WP DI F PP Fow &
Their verbal skills are often much better than their writing skills
B
T NET DI IR I AE DI § PIBT oo old &
Their verbal skills are always very poor
C
I P B AN G5 T 61 &
Their writing skills are very poor as they find it difficult to hold a pen
D

I A B g TG & FIP ¢ S b § SIS et &

Correct Ans : B

Subject : Child Developement

Q.No: 129 What is the meaning of Mental Retardation as per PWD Act,1995?

2478320
i)Condition of arrested development of the mind of a person
ii)Condition of incomplete development of the mind of a person
Choose the correct code
dt.geg, S oififam, 1995 & AR UHRIE e ol J1 o 82
i) it wafer & femm & sraee U fadm &1 fRufd
i) =fda & famm & eyl fasm a1 Rufa
e Bls G
i) only
A
i) $aq
B i) only
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ii) ¥ad
Both i) and ii)

i) @R i) 9

Neither i) nor ii)

adi) Adii)

Correct Ans : C

SRR TR e R ARl AT

e a7 P ey T RERAE Td ¥ Rem R OREEE

NN T g e BATE R WA e R O e e T S e Y

Subject : Child Developement
Q.No: 130 Our school education system does not provide adequate space for the ------------=-=-noo= children in its evaluation process.
2478352
A e Rien yomeht T ¥ e uiea & R vafa =M ge T awd )
Intellectually bright
A
T FY I I=Tw@
Creative
B
ATHD
Talented
[
HferraE
Average
D
I

Correct Ans : C

Subject : Child Developement
Q.No: 131 Remedial classes are very helpful for ---------------- children.
2478384
----------------- o & T IUIRIAS F&M a5 HagTR giell @l
Creative
A
AP
Talented
B
ufeHrET
Intellectually bright
C
P T F I
Underachiever
D

B Iualel ardt

Correct Ans : D

Subject

: Child Developement

Q.No: 132 Which of the following children fail to understand the sequence, steps and direction for solving simple mathematical problems?

Frofafed 8 ¥ $9 W 791 Wa TR Tl S g FA F B, WO 3R 2 S aneH v g g2

2478425
Average children
A
I =
Children associated with Dyspraxia
B
feRifRm iR & wafld a=
(o}

Children associated with Dyscalculia
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Rubagimm fAeRr I vt s

Children associated with Dyslexia

g e A e e ™ T TN oy W rRi T Tt ¥ R TETEEE O a0

3que faeR & Y o=

Correct Ans : C

Subject : Child Developement

Q.No: 133 Which of the following is one of the effective ways to increase the learning capabilities of children with learning disability?

2478434
Frofifea # § FF 1 dRa B stemar a1 F=1 F AE B el dem F uud adel § e 8
By making them sit separately in the back bench
A
I U1S @1 S 7 ofem Forax
By continuously focusing on their disabilities
B
I LN TR TR A Hixd PXp
By fixing their academic target very high
C
37 e 6T $ Tga e Rufka 7<%
Teaching them different organizational skills
D

I it Seers S R
Correct Ans : D
Subject : Child Developement

Q.No: 134 James Marcia talked about four types of identity namely; identity achievement, identity foreclosures, identity diffusion, and identity moratorium. This are found in which
2478900 o the following stages?

SRy AR A 9R UHR @1 Ggg & aR 91 @, 3ufq; Teur SUafd, UeYH BiveR, T UAR, R TgdH itk g8 Fefifed A @ fry sEwn A uran o 22

Adolescence

A
iR
Later childhood
B
I T 9
Adulthood
C
CRisail
Old age
D
gerr

Correct Ans : A

Subject : Child Developement

Q.No: 135 Which of the following is not correct regarding Progressive Classroom Setup?

2479457
iRt e Jesm & ey F Fafafed # § 2 o wd T e
Children at the centre of education.
A
et & &g A 7=
Values childhood experience
B
AU & IFHT P AT e W
Demanding to dismantle authoritarian practice in schools and education institutes.
C
el IR Rigor TR F TEETd W B @ FA B Al
D Encourage children to do the same thing until they master it.
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o B! I B B B F A Wiced B o 9% & T 399 HeRa sila T #R I

Correct Ans : D
Subject : Child Developement

Q.No: 136 Which of the following is correct with respect to Rousseau in progressive education?

2479507

wTfertter Rien ¥ w1 & waty A Fofafea § § o5 @ e 8

Rousseau believed reasoning over humanity
A

T A WA W qF B A

Rousseau promotes Teacher centric education.
B

w4 e Hia R 3 agrar 33 71

Child should take the responsibility of learning and the knowledge they construct.
[

T Bl W R 7 g1 P I 9t Rederd Ff aife

teacher's role is more active, prominent, and constructive than the learner.
D

Rieies @ yftyenT Rieneff 1 o 7 o wipy, wgE 3R TS B 1
Correct Ans : C

Subject : Child Developement

Q.No: 137 According to Mahatma Gandhi, who is in charge to make a child realize and achieve his or her full potential?
2479566

T MR & SER T2 T ITS! R & FT TGUN HIA SR gIRIG FA F I S guit 22

School
A

R

Himself/herself
B

@

Parents
Cc

T -

Society
D

AN

Correct Ans : A

Subject : Child Developement

Q.No: 138 Who among the following defined intelligence as “intelligence is what intelligence tests measure”?

2479671
Pfifed 3 ¥ fre §fE &1 59 = 8 uRuiRa e &, gfgm a8 & S gf e amgar 82
John C. Raven
A
S L X3
Edwin Boring
B
TefA iR
Jean Piaget
C
S fomrt
David Wechsler
D

s dawr

Correct Ans : B

Subject : Child Developement
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Q.No: 139 At which of the following steps in the Triarchic Theory of Intelligence does the person tries to make the actual use of the given inferences?
2479783

g o1 Prandi Rigia & Fafafea 4 3 5y o § afk Ry 10 sart 1 arafas a3 &1 TaR &l 62

Encoding

A
HHT (THI)
Inferring

B
Prepd P (TR
Mapping

C
AR (Aff)
Application

D
WO (QwAP)

Correct Ans : D

Subject : Child Developement

Q.No: 140 The Social Learning Concept has 3 basic models of observational learning?

2479875

iR siftem Rigia § sraciie siftvm & 3 gfud Aisa 2

A live model, A non-verbal instructional model, A symbolic model
A

T siiad Aisq, @ R-Afes Fdswers weq, w@ wdemrs Aea

A live model, A non-verbal instructional model, A non-symbolic model
B

T Siiad Hied, W@ IR-As Mixmes Aisd, @ R-wierers Aisd

A dead model, A verbal instructional model, A symbolic model
C

T 4 Hisd, W e R Aisd, W@ Ydies Aisa

A live model, A verbal instructional model, A symbolic model
D

TP Hdq Alsy, W AfRe FEmas Afed, U Wieds disa
Correct Ans : D

Subject : Child Developement

Q.No: 141 Robert Plutchik proposed how many basic or primary emotions?

2479981
wfI® (Plutchik) ¥ SR, faa 7@ a1 wrufrs §37 gid 81
6
A
6
8
B
8
10
c
10
12
D
12

Correct Ans : B
Subject : Child Developement

Q.No: 142 Ramakant is good at playing violin, and therefore, he utilises the free time after his school homework in practicing violin. His mother allows him to do it.

2480054 receiving which kind of motivation?
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TSI aEfeE S H 311 ], 3R ST, 98 307 Td & §Had & d1e WIel 9HY B ST aRiE S AR S B T ¢ IUS! HT S0 T I 1 A At 31 i &) by @
3 IR e a1 87

Intrinsic motivation

A
SraRa SfERom
Extrinsic motivation
B
TE4- SR
Primary need
C
Yo Saxadl
Growth need
D

T 31 smazawar

Correct Ans : A

Subject : Child Developement

Q.No: 143 Which of the following type of student observations proves that a child is a disadvantaged student?

2480245
Fafafea 4 3 59 gor @1 faendl sracie g aifad X @ & U a1 @ g dfed e g2
A student sitting in the front row but makes mistakes while reading from the blackboard.
A
T faemdf o @ dfe A o7 €, AP RpaiS A g THY e BT B
A student who always sleeps in the class, mostly sitting on the backbench.
B
e faremdl ot g e & e R, wareT R el 9w dow
A student who always asks for repeating what is being said.
Cc
T foremeff < 5 Qo @ B GieR & g e 31
A student who always looks puzzled.
D

& faremelf ot g ST A e 31
Correct Ans : B

Subject : Child Developement

Q.No: 144 Which of the following assessment for learning methods help to build a student's assessment capabilities?
2480370

siftnma % fafiedl & fo Fofifed & @ $F- s1eaq o 3 gruied emarsi & Fmiu § geg o 82

Questioning

A
THTHD
Quiz
B
REIGH
Seminar
C
¥R
Peer assessment
D

Ricci g cca
Correct Ans : D

Subject : Child Developement

Q.No: 145 Early school years are often referred to as the 'gang age' because of the influence of
2480430

IRIYE Fa & ¥ f5d uHE F RO SRR T I (Fea)’ § 9 Y 99 9@ 82

A Teachers
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Rregept

Parents
B
e -
Peers
C
e
Neighbours
D
TSRl

Correct Ans : C

Subject : Child Developement

Q.No: 146 In Kohlerg’s theory, in the convention level morality is-
2480677

Figai & Rigid §, WRP ¥R & e

Controlled by individual’s own perspective

2.

A
wfed & S uikdied § Fafa
Controlled externally
B
e ¥ Q
Acceptance of one’s own faults
C
Wl F el B WHR HA1
Acceptance of society’s conventions
D

AT TRORTSH FT SigHie
Correct Ans : D

Subject : Child Developement

R i ettt

e a7 P ey T RERAE Td ¥ Rem R OREEE

Q.No: 147 What teaching strategies would you choose to involve your students in the process of socialization?

2480712
3O B BT FATSHGRU B Ufshar et B & AT omd i 9 Rigror Iorferdi 1 757 B
Inductive approach
A
R e
Deductive approach
B
S eRe
Cooperative learning
(o}
TePr Rign
Using illustrations as teaching aid
D

Rresor FeTeT & T H IAER BT ST HA
Correct Ans : C

Subject : Child Developement

Q.No: 148 Universal and in born ability stand for which factors?
2480886
1. Eysenck theory

2. Spearman's “"G" factor of intelligence

FNE iR o emar 5 HRS & R &2
1. % fReia
2. WA @1 gfEA FT1"G" FRS

A
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Only 1 is correct

FAMLERE
Only 2 is correct
B
FIT2TRE
Both 1 and 2 is correct
C
1R 23T W@ T
Neither 1 nor 2
D

A LARAHR2

Correct Ans : B

Subject : Child Developement

Q.No: 149 The headquarter of UNICEF is situated at:

2482208
IR &1 geray R ®:
Paris
A
IR
Switzerland
B
New York
C
Munich
D
e

Correct Ans : C

Subject : Child Developement

SRR TR e R ARl AT

e a7 P ey T RERAE Td ¥ Rem R OREEE

Q.No: 150 Which among the following technique is used for studying social relationships in informal groups?

sFTae THEl B g Wedl & iurga ¥ R 398 A 5w awHie @1 Sug e o 82

2482232

Socialization
A

AR

Sociometry
B

T

Anecdotes
C

Tai

None of the given options
D

fRu m Rwed! # 3 3 7

Correct Ans : B

Subject : Child Developement

NN T g e BATE R WA e R O e e T S e Y
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